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SO OIS | Read the following passage carefully and answer [Qg. 21-25]
Ans : D. The crystal clear, blue water and the magnificent sun
TRIGR AG T IROM 4TS @ ¥ weivew ¢t | make the Caribbean island of Saint Maarten a favorite
N AR ” vacation spot, one that is popular with North Americans
A T B. *2g C. = D. 3= during their winter holidays from December through

T : SRR - March, as well as with South Americans and Europeans
I I ikl Naptabers from April through August. The French and Dutch settled

* TSI 2 TS 27 - dvoe B0 e Wﬁw"ﬁm' | | on the island in the 1600s, and to this day, the island is
o q TS AFRETS PN F9ll 9 TR - F® ¥9F | | | divided between the two of them. The French capital is

| QIR MR IV MR- Mo Fgq 1. . - Marigot; the Dutch capital is Philipsburg. Tourists soon
o YT T TRR - FWE@ | ~ © . I'| discover that St. Maarten has an intriguing history.

Ancient artifacts found on the island date back to the

° IR 3 o TA IR - frwsm @M@ - L | | gone Age, 6,000 years ago! Tourists also learn that 1,200
Ans : A. —— : ' years ago the Arawak Indians inhabited all thf.': !slands of
, Reeqfs’ o wd iz | the West Indies and were a peaceful people living under
A. "™ B.owwrfs C.¥ilRW D. =¥ the guidance of their chiefs. Three hundred years after the
[0t = i eeamiea o IR FROR R =d- .~ - | | Arawaks first arrived on St. Ma{?;:fg‘ iﬂﬂf;hﬂ _11300;= bthey
- were defeated and forced to abandon the 1sland Dy a
_T‘?Fﬁ;mﬁ TS | ﬁﬁﬁﬂmﬁ:uf =% ¢ IS 457 T hostile tribe of Indians originating in South America. This
O3 TIfea Gfergn «faeaad | new tribe was called the: Carib. The Caribbean Sea was
R TSN Pl &S | named after them. Unlike the Arawaks, they had no
MLl EW ﬁ“ : permanent chiefs or leaders, except in times of strife. And
I<oFTe R | AT they were extremely warlike. Worse, they were
Bkl 4 1 5 A TR | — cannibalistic, eating the enemy warriors they captured. In
| Ans : B. e+ s || fact, the very word cannibal comes from the Spanish
m AP, G AR ST name for the Carib Indians. The Spanish anjved_in the
A. afsgte B.ufF  C. WygggEs D, ANES ﬁﬂcca@hcet;:turgl ;_nd, ulr]lfgrhmaFely, thFr}}rr cahrdned dlls?ses
: ‘T T a0) O 7 B to whic € 1ans had no immunity. Many Indians
W:W tﬂgﬁ Em?r??ﬂw | — 1’| | succumbed to common European illnesses; others died
e T SIS S | from the hard labor forced upon them.
oI TR SToTeaR | One can infer from the passage that the Stone Age
|| LT S Ll m [ = : people lived on St Maarten around the year .
| e e (3599 | A. 6000 BC B. 4000 BC C.800 AD D. 1300 AD
: [i"_i LAk I NPT '-1]1“‘4]1 Passage 9% %‘ﬁ?[ FAE Gy ST passage 9
Ans : D. ——  — questions AYCe I | A~ passage P FTA questions
19. %oiavE ROEER T JY 9 FT- e sentence O mark ¥ XA | The stone age
A. Mo CIr face B. sfATed el 1y ‘people 7T F@t R - Ancient artifacts found on the
C. Rt fRTed “Iew Iﬁ: ﬁmD Ll k. island date back to Stone Age, 6000 years ago! . '
TRt - FoRey e mmﬁﬂ? W‘HWWWI Q3T Answer & oM (A) 1 -
ot Bewes (7 AT I8 (RS ’1:-[“!"“ : Ans: A,

ot &7 efera- (ves, Swed, S I . : Which of the following is not true about the
Ans : B. ' Carib Indians?

AT SETR WIS F1 QI ol - A. The sea was named after them.
A. FEdrerd eRaor RIS B. They were peaceful fishermen, hunters, and farmers.
B. AFS IS C. They ate human flesh.
| C. cTiv S2femy TEE D. They settled after defeating the Arawak Indians.
D. @A T IO : Passage 99 187 part Bt®  Carib Indians 5=1t&

[T : 7Rad oiged SIS & SR Pl < | | | S wht o | e/t Arawak Indians- o #(3ifEs 36 |
oo oM CfmfETe | 9ISl TWiE FE, G| | | owe FIEE Sea @9 AW Caribian Sea @Rt =¥ | oiEl
Immﬁaaam%mﬁmﬁwww%ﬁm ST *[EFR e 0 Simd T (human flesh) 247 |

MBI Tt Ry Ruper-Frety smiad 2eum Aferel O passage SPitd ©Fl- Peaceful fishermen, hunters

PR Y ©fF FrEm Ty 9 T | and farmers f&t= 11 | ©1R answer 2@ WA (B) |
Ans : A, Ans : B.




_ll F12020-2021 (237)

were finally defeated by-
A. sickness and forced labor.

B. the more aggressive Arawak tribe.
C. the Dutch West India Company.
D. the French explorers.

23] [PRR According to the passage, the Carib Indians

[T : Passage 99 CIER o6 sentence Al IR GTS
I | G @ W - The Spanish arrived in- the
fifteenth century, and unfortunately, they carried
diseases to which the Indians had no immunity. Many
Indians succumbed to common- European. illness;
others died from the hard labor forced upon them.
wefe, ©r1 sickness and forced labor mamﬂﬁﬁwn
Ans A.

underlined word strife means-
|

| One can infer from the passage that the

A. cannibalism B. war C. duty-free D. chief

P : Passage @ I 9% - Unlike the Arawaks, they had

Sentence SANA strife stnfewim fram, ‘ﬁ(War)l
Ans : B.

| V3 A | 9 S0 ﬁw aﬁ AR |
| | no permanent chiefs or leaders, except in times of strife. |

. According to the artlc]e, present—day St. Maarten
| A. belongs to the Spanish.
B. is independent.
C. is shared by the French and the Dutch.
D, is part of the U.S. Virgin Islands.

[T : Passage S - The French and Dutch settled
on the island in the 1600s, and to this day, thé island

to the article, present-day St. Maarten is s‘h ared bv the
French and the Dutch. _

is divided between the two of them. & According’

What does the underlmed word n'm.ml"-'r

|| Ans : C. ' ' | '
m—She showed a blatant drsregard l'nr the rules.

A. obvious B.hidden C. ]ast-mmute: D. rebellmus
l QI : Blatant - w78 =2/Swd | oy
Blatant <7 g Synonym <32 Antonym: -

Synonyms: Obyious, Overt, Open, Sheer, Clear, Ewdent.
Antonyms: Concealed, Silent, Hidden, Secret, QUIEL

| Ans @ A.
I Interest : Obsession::
A. Mood : Feeling B. Weeping : Sadness
C. Dream : Fantasy D. Highlight : Indication

Tt : Interest (2T) : Obsession (SI)
Dream (7%) : Fantasy (¥%1)

Obsession is a greater degree of interest.

Fantasy is a greater degree of dream.

Ans: C,

arts and literature.
A. theirs B. their C.it’s D.its

The richness of Asian cultures is reflected in _

PGt : I’s=1It is

Its = adjective/determiner
Its + Noun =311 The richness of Asian Cultures @3Its
richness 2@ head word @3t @ft singular1 R @3
determiner & its TR | FAt Gap 99 R noun WK |
Ans : D.

Il 1 wonder if of our neighbours would look
after our cat while we are away.

A. the whole B. few C. either D. every
[T : 9SG gap @ few IR | AW wd- W @

T I AR i S S e cﬁmrsrrar LIc|
Y R IR AR -
Ans : B. . -
. What is the passive form of the sentence-

“We must endure what we cannot cure”?

A. What cannot cured must endured.

B. What could be cure must be endured.

C. What we cure must be endured.

D. What cannot be cured must be endured.
It ¢ Active voice-4 we, people &GS AT passive
voice ¢ nhject ﬁeFrEiI By TS A I Active voice 9
must + vy’ (base furm) AT passwe voice @ must be +

Ans: D.
. The pilut smd to the passengers, “Please don’t
panic but tighten your seat belts.” What is the
indirect form of this sentence?

A. The pilot told to the passengers that they should
not panic but tighten the seat belts.

B. The pilot told the passengers to not panic but to |
tighten their seat belts instead.

C. The pilot told the passengers not to panic but to
tighten your seat belts.

D. The pilot told the passengers not to panic but
tighten their seat belts.

IR :* Reported  Speech @' Verb iz Sentence w%°
QG- hnperatwe Sentence 47 AT Indirect F9CS 7 |
e Speech, B Nﬂgatwe = Inverted Comma Bfew
ﬁ‘mnottn+v, IATS TR | wmﬁmﬁtmmﬁW|

5 The. pilot told the passcngers not to pamc but

tighten’ ﬂflElI seat bclts
Ans:D. . '
. Whu:h uf the fulluwmg is currecﬂy spelt"
A. vegeterian B. vegetarian
C. vegetarean D. vegitarean

Tt : Correct Spelling Twni- Vegetarian (fF=ifsrEe) |
Some Important Correct Spellings:
Vaccination, Vacillate, Vassal, Ventilator, Varsatlle
Vigilant, Visionary, Volunteer, Vulnerable etc.
Ans : B. . S
The attorney wanted to expedite the process
because her client was becoming impatient.
What does the underlined word mean?
A. accelerate B. evaluate
C. reverse D. justify
Rt : Expedite - S31s F91/5S 331 |
Expedite @@ w¥gf 38 Synonym & Antonym:
Synonyms: Accelerate, Quicken, Hasten, Hurry, Speed up.
Antonyms: Delay, Slow, Retard, Hinder, Stop, Halt, Block.
Ans : A,
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Choose the correct sentence.

A. After reading the original study, the article
remains unconvincing.

B. Relieved of your responsibilities at your job,
your home should be a place to relax.

C. The experiment was a failure, not having studied
the lab manual carefully.

D. After reading the great new book, Hassan thought
the movie based on it was sure to be exciting.
T : @5 Dangling Modifier 47 Twizad | 93 93 T
Pre FTaCR Hassan W12 subject B 3797 *Remg =@ |
Danglmg modifier: After reading the great new bouk
the movie based on it was sure to be exciting. .
Correction: After reading the great new book, Hassan
thnught the movie based on it was sure tu be exciting.
| Ans :
Cuercmn sometimes leads to the_ of short- term
| goals, but its drawbacks far ___its advantages.
| A. realization/damage B. appreciation/percolate
C. accomplishment/outweigh D. achievement/crumble
NGt : Accomplishment (N.) - F=imw/oowomet | -
Outweigh (V.) -2fStmaeat o '
T O SASIS FINS FING THEAA! T A 3 A
ﬁ@afﬁaaﬁsmqﬁwﬁ&rﬂmq@wﬁl - -

Ans : C.
. Green pepper Is very ru:h wtamm C
B. with C.in

A. of
| At : Rich in - 7%, Q&P afdmd o=t
Green pepper is very rich in wtarnm o
- —}H{ﬁﬂﬁ‘sﬁﬁ?ﬁml
[LAns : C.

| They _ on time lf they __ missed the train.
l A. would arived /hadn’t B, might have arrived / hadn’t

C. had arrived / hadn’t _ D. could arrived / hadn’t
Tt : 3™ conditional ¢ FEFIEAE - If + subject + had +
V3 ..... subject + would/should/might +have + vy ... =1
wefk- They might havc amw:ad on time if they hadn’t
mlsscd the train. _

D. on

Eﬁ Which of the following sentences is correct?

A. The young lady sitting on the chair, wearing a
neon blue t-shirt.

B. My younger brother drank the whole carton of
milk 1n one go.

C. The man that gave a long mu'uductmn in class.
D. Because John said so.

1t : Option (B) ¢= Finite verb @ Ffés Twze TR |

Subject + verb + object + extension <% FRETI

Option (B) 2= #fé% |

— My younger brother drank the whole carton of

milk in one go.

Ans : B.

What is the verb form of the word ‘able’?
A.toable B. abled C.enable D. abili

M : Able (Adjective) - 7, 599

Enable (Verb) -57¥a 3911 Ability (Noun) - =3s1, 7set |

Ans : C,

Mr. Alex: I wish I hadn’t criticised Mark’s
drawings yesterday because he hasn’t spoken to
me today. Do you think he’ll come to my party
on Friday?

Ms. Merry: Possibly, he
A. has forgiven " B. was able to forgive

C. might have forgiven __D. must have forgiven
Tt : Might T9%® W R (Possibility) snd | &mg
8T gap 9 ©1% might have forgiven T |

' you by then.

Ans: C._ 5

General Knnwledge and Aptltude

P8 Bangabandhu Sheikh Mujibur Rahman was

expelled from the University of Dhaka in early
" 1949 on the allegation of

A. joining in student politics.

B. his delayed attendance in class.

C. sedition, - _
D. inciting the fourth-class employees in their

agitation ag;nst the University authority. .

M : et
o 1 W 7 v ReaRwprere of¥ = - 3589 I |

o g, of RefRvter ofE < - =iz et |
o 37 e - SfEnER e =
o AT AR (AT XS T - H58b W AfeiTe |
o AT IRFS 2R IR - 584 R srFAGA W | |

AICEA RIS WA 417 |

Who has decoded the genome sequence for the

Ans:D

novel coronavirus, Sars-Cov2, for the first time
in Bangladesh?

A. Zafrullah Chowdhury

B. Magsudul Alam

C. Prof. Zeba Seraj

D. Samir kumar Saha and Senjuti Saha

| = 3zeifen 7R EBR Fafis =3 - ¢ A1 it Rt o |

. UNESCO has decided to celebrate the Mujib

C. 47‘“ General Assanbl D. 50® General Assembl
[t - ﬂﬂ ﬁ Y-

Tt : ey g ow-
® JIETC™ AN Sl ST Faw Iifawr o= - 789
IE A IR CIgRs 7T |

e BIt3A e e Taf e Rt Q1 72 zeet - R |

o MM Aty Prritafie 33 - vi3® =< et e |
;mqlq) SIRACR T8 RS (TM-02R) - S |
ns:

year ELl:nmtl'_!,r with Bangladesh atits___ .
40"’ General Assembly ~ B. 45® General Assembly

-quﬁﬂm-mml
o FETIHM 80w YT T - 3¢ TS 3055 | l
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. Padma multipurpose bridge will connect

A. Munshiganj to Shanatpur B. Bhuapur to SIIH_]gB,ﬂJ
C. Manikganj to Shariatpur D. Munshiganj to Bhuapur |

| [t =t Qe i oy g o0
o “t 55 IT FTIE - g 8 1TS7 | ,
|| o orar fvema e et - 835 o |
o ot Fro AT @ &7 - b.5¢ .57, 932 sv.do il
lﬂmﬁﬁﬂmﬂﬁﬂw-ﬂbmml

o R0 * (T SRF - ¢S (3TW) |
Ans : A.

What is the name of the Parliament of
Bangladesh?
A. National Parliament B. Housé¢ of the Commons
C. Congress D. House of the Nation

TR : S AGW T egeY g =-
o GO WA 2¢1% =W - House of the Nation.
o JEATIA SO ATW - qF I [IMB WZFo7eT |
o TION AL GV ISR I (0T CF6A) - 5 323 |
e 3543 UF FRYF TS TGMT AT FEFS I - defb

o Yobb ATE 8¢ wieHy FHeH fEmnt - wfEHTa Wi |
Ans : D.

Which sector was under the command of Chitta
Ranjan Dutta during the Liberation War?
A. Sector 10 B. Sector 11 C. Sector4 D. Sector 5

I : 5% 76 WG TR GG 9% ©U-

® SEAHIE-TRIE - Y39-0%0 H4 |

® YHqd HIA ©fd WA {7 - 8 AL (734 |

o J[EYH TN & BitE TAAffg (qem =1 - 3 Taw |
o TN AT if vt I - 5 A vl |

o b TG WG ST I - S5b8 A |

Ans : C. |

Who are the state parties of the Abraham Accords?
A. United States of America and North Korea

B. United States of America and Mexico

C. Israel and United Arab Emirates

| D. Israel and Egypt

i : TR §fE TN oG g ©-

° SR 5% T - TG ¢ ge SiHe wifiEees g )
* I 3f& riae 77 - Yo% WIS, Y020 |

® MYS WY WIS F8H T7 - 35 AT |

o BN & HEDS =W - dvdo I |

o LIRIITTR ATY WRAWC= pfE T - i off |
Ans: C,

If it is true that ‘religious fundamentalism is
dangerous to the society’, which one of the
following statements is also true?

A. Religion without reason is dangerous to the society.
B. Belief in religion is dangerous to the society.

C. Religious pluralism is dangerous to the society. |
D. Disrespect for other religions is dangerous to
the society.

_" :2020-2021 (239)

In 2021,

T : oY g ©u-

o off At TTORMIS 2yEETS T - Secularism |

® FHRTETT {iFRTFS! TS WRI - 44 © TEF3 TR < |
o 4l Re0or® 1@ org em T - ¢ o |

* T X AW 45 T I, 3B - 5M |

* 5 {0R offS s e e 4o o ciTsifisi - e o weed |
Ans : D.

Nobel Prize in medicine has been
awarded for
A. 1dentifying receptors that enable the body’s cells
to sense temperature and touch.
B. discovering the molecular basis for our ability to
sense temperature. |
C. identifying receptors that allow the body’s cells to see.
D. discovering the molecular basis for our ability to hear.
JYT : v g o-
® J03) FAITA i @iEa % Ay - (efow gl aqe
SIHTEH AT |
® 03 A {6l TAA #i & fawarst e A |
Ans : A,
Air Quality Index (AQI) is
A. a management system to control air pollution.
B. a tool for checking compliance with air quality
standards.
C. an index to reduce level of air pollution. |
D. an index for reporting air quality.
M1 = ooy g -
o Air Quality Index Xt - IreTE@ WA fTAG |
e AQI @7 Tt - FIY I &OTF fFene T T
SIS AR O G WA |
* AQI 937 I T© Q&M W - Y a1 T ©© @ 7 |
o AQI s fafeg ont arazra <ta - ffeg oo o
* ST U3 WIN{AS! YA IA - Coo ATATHY (F |
Ans : D, ;
The Amazon does not face threats from
A. illicit mining operations.
B. expansion of anthropogenic territories.
C. agnicultural development.
D. geospatial analysis.
RURE G-
® A IR TIFa T - =il 1o e |
o TTEH AiCwa BeifE - 8% 71 s |
o WEEA I (ef e wiEEra Aftma - e @i
SfEEEa 0 *eied |
o TTETTA WS - A ¢¢ <4 2« ferafivm | |
o SIS A &) Fhodd 71 - G-FS f{rage |
Ans : D.

Which country does not plan to phase out the
sale of fossil fueled vehicles by 2030?

A. United States B. United Kingdom
C. China D. Canada
| Ans : A.
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SRl What does COVAX stand for? T When asked in an one hour exam how much
A. The COVID-19 Vaccines Global Access time is left, the teacher answered that the
B. The COVID-19 Vaccine Access Global amount of time left is % of the time already
C. The COVID-19 Vaccine Program
D. The COVID-19 Vaccines Open Access completed. How much time is IEf'f?
T : G g, - | , A. 10 minutes B. 20 rm.nutes
e COVAX = The COVID-19 Vaccines Global Access. C. 12 minutes D. 15 minutes
||  COVAX Sraimifs o =3 - @férr, 030 7|~ R = 5 T = bo ARG 1
* COVAX ¢ 7@ 70 386 o1 - >d W31, Qﬂinﬁﬁl 11 |wo i {5,_;.1_ X R .\ mEE
* COVAX csfa 57 weF 90 - o, Q.ﬂib'ﬂ'fci‘ll ¢ - xR Yo
o COVAX TT® 5157 974 - ﬁﬁmmw’nl i A“*'C i g
It Ans : A, : e S T T e B The agreement acnurdmg to which the UK, the
Which one nf the fnllnwing writers has written USA and the former USSR cannot assist other
under the pen name ‘Robert Galbraith’? countries in acquiring technology to develop
' A. Arthur C. Clarke B. Stephen King nuclear weapons is known as____
C. Salman Rushdie D. Joanne Rowling A. Izmir Treaty
14t : ‘Joanne Rowling' w[ns-::# g ﬁ'ﬁ w_ B ) B. Nuclear Non-proliferation Treaty (NPT)
|| @ wier - 3 g2, smee ey - C. both (A) and (B)
o @ -1.K. Rowling @< Robert Galbraith. ' D. None of the above
o Pl - T4, AR, oo et et | It = wwge| g -
o R8s 7 - @ﬁmﬁﬁﬁm\wﬁwﬁﬁm ) o EifYe weaa fast Faad 5fe =0 - svub e |
i E]@N‘B] @fs-n i _ i | | e @2 pfeTe ArTasl qEt - SusfE
Ang s D, ¢ g, T o o B v R - S 20, TR |
Whmh spurt has made lts debut in Tﬂkyn ® P& FT(9 W - 0¢R B, 3590 A |
Olympics 2020? o X% - (&AM, YEAE 32 M AmaRe wmrm R
l A FEﬂCiﬂg B. Karate HIRW] FhCS AME A1 - _
C. Judo D, Equestrian b
Tt : ﬂﬂ’ﬂﬁ’ﬁ'@ﬂ?— - What does VPN stand for?
o (O1fF 8 SERAE o0 &F E!I J® TR, Y038 A | A. Virtual Protected Network.
o (OTfe8 TFMFT 20%0-9 T (51 T&F AR - otfd (M, B. Virus Protected Network.
il FEAEe, (B Q@I FIE5, @1 . I TET) | C. Virus Proof Network.
o (BifFG Tﬂﬁﬁ?’{ﬁi a\nap et - QQ_EI[W | : D. Virtual Private Network.
o AfoaRy - oI WA dFE) L Tt : &G 3% Abbreviation-
o ST - WO TS -. RERAT . ¢ VPN - Virtual Private Network.
Ans B. - : e VCT - Voluntary Counselling and Testinp.
Which instrument is used for seeing objects at the * VD - Venereal Disease.
surface of water from a submarine under water? ® VPP - Value Payable Post.
A. Kaleidoscope B. periscope ® VS0 - Voluntary Service Overseas.
C. spectroscope D. telescope Ans : D,
T - Submarine (GRTSIIE) T1E wFg 0% O9- @ What are embedded computers?
* e 06 velbts wEY @ wifeiE Rradeld (e 3 A. They are super computers.
- ARG I RIS | B. They have keyboards and drives.
* STRERRTT AT TIRR TF7 1 T - 37 Roges | C. They have monitors.
» T - T R, Sew erel, SEmEE T, D. They are miniature computers built to control drives.
AR g3 THITET | Tt : eFg fag wey-
* TRISIZISGTE] HIGHEEE W - TET Tee | ® TALITCE TTHR ZreT - w120 Tewa o |
mcﬁﬂﬁﬁwm“ - CRCSTCR e 1 | || @ S S0 e 7 - e g (4 Tt @)
;niirmr;@ FPATOTR TR - TRTATS |
$
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o T (AT T AT - TS | e TERTAAN-TF |
o 068 TR 37 - ol | .
Ans : B.
| @ | fB1 ‘Leave no stones unturned’ eRMPS WY- |
mwﬁﬁ*wﬁv A. T5%R T 7 < B. =iofa T8
B.% C.Q D. wqaafs C. =3 D, =g = |
* [ 'ﬂﬁ‘ﬂﬁ%'@%ﬂﬂﬂ- 0T : IS RS @A 8 et Sd-
o GIferS TARF- AfF | 3Q- &, =, =, 3,% q, ﬁ%ﬁnﬁl Leave no stone untumed | W81 &G =1 371 |
-ET 8 T - e @) : .' A cat has nine lives ﬁmm#wﬁ%s |
° @ =T+g, @ =W+E || [ Many men, Many minds | =Tt I8 ¥ T |
-wﬂ-wmﬁ ﬂn : p 1 ST ey To dig one’s own grave e A ToE W)
| Ans ¢ | Ans : A.
. 'ﬂﬂ’ﬂmw e ﬁﬁ@wﬂ?f @ < | (@ ‘Cabinet' It iR %ot Z- |
= ReiF? A. 9 B.oi0a 3w C. sRiemew D. sy« |
A. T B. sy ot 101 = Frev ARCHT *1- -
C. 2RI D. 30 w7 Cabinet | fa=fssw | Hood WS
QNG = AP 4 A O [WFl Hlg o0a (0Ll (4 1Ay Galaxy | =4 Copyright | T37g
SN o & T I, OiE SIS A | Global | W= Dialect Berstl
oft: aﬁﬁmwmwwnm _ Ans : D. |
Ans: A. | B o =7 Eans 79t Ry
.‘mﬁmmmww A.R@  B.T@ C.%izad D.fA | .
A. aiffi B. frey C.fie  D.7=3R% TR - IV 1 TS = - o, Wiz, A, 94, TR, |
JITO1 + AZTA S0 AR (- TIAES) @R I I, N, e, 74, <fiegf, T, mmvﬁﬁaw.
35413 UM ST T, Ot A« 989iR AT A | |Ans : A.
A R S TR = SRS | M e rw o e
T (13) W TR = e | A. B. Wt C.Gm& D, R '
mﬁa)tﬁw:w' 4 | W’WWWM— |
Ans:D. ' » TEfA- fAoE o 8- 7Y
04, ot e RS - o ST T, 2R | o FTSH- ErfRreIs 7 9
A 75 B.westem C. ffsms D, AR o TEAT- I <RE, B |
[t : Iy ﬁﬂf‘l‘!‘tﬂ?‘lﬂ- Ans * D.
B | RSN | emE M | e T Il “seiRfer st s sk rb?
- e R 5 Ao A.FmH B.wgm C 3 D. fag | .
sz S eI GHIE TR : AR NG T TF A Ao IR | A
e N wfeam TR iR T [ o MU AN I 22 o wWheids
Ans:D. IR O TRl HfSes A0S, TEA Y Siwa iR T
B e = % g T, OT1 G A0S T G ST T SR
A e e | R s B | iﬁt@crrmumi,wﬁrwmwmmwmu
C. S #fe s 1% | D. S & 1 | as
DT+ IO A S © TG e ﬁﬁgwﬁﬁ?mmwwmm
bk = A. Rt B. 35 i fene Sy
S BT SRS B | C. wEfSTel D. wiftEs
fof S=ey 220 foff wTs w1 @A | TUT : T TS - |
o4 ZIE OH (R WIS X[ ST G2 | \éns:ﬁ,
ST ST JTACR o] (TS AR | :WE“@W (T [ (0T ¢
- = - . % Al TS B. WI&3 FEA
-Anzwmm”ﬁ' IURTET Bh AV C. serie ST D. qete fiern |
S v 7 o T T B (e P €T S
Aoy B.uy  C.oiofes D, 9oie® Ans s C.
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14. ‘RS of¥ crem’ IRR o oRTE

A. G AfEER] B. =1e Aifs

C. TPt ] D. ¥iw _
| TIT : THEEIE AT 561 OIS Lrerw 303 oreeire e
e cu effefam T7% 20, OR TR ‘Remer Afs T
WL AETRTS T | @ SO MG AfS STERe a3t
ferreTe @ oprgiRer Rt gmP e gume 3 |

Ans: C.
15. ‘@Fo’ = wd F?
A, SHYA B. aFs@ C. #afe Ja D. Tem St
TOT : TOAF ARTTNGS W |
Ans : C.
TIRIEE TS T IOl FRE WiRs] I-
' A. S Q&S B. Tz I¥3H
C. T3 s D. ffamws sl

JMT : TR NS TH T IRA V& GATTE FeaT8 Qv
O® | OF RSl AYER YN TN 8 TSR wiel T R
CRF @GR SRR TPIS (SvoR) FRA SRE 6 et ¢
WET | OF IEETE 8 FEHIRR OFE (T Wi O3 TR
fageet | 3R T it T T Resr IR | SRIEE TS T
|| TRer= ey @ wg @ Famm Reer 34 | Ok T aEs
TP Tl o9 S0 7@ “ited $9 /At @Al |
Ans : D.
i fRnits T R sRehe W SRkt g7

A. TATS TH 7 TACS *1EE HAME

B. s ama offs =@l

C. *me e &S SIS

D. e 4fE FerEa Toug el
TN : S [eEuied I FR FESMS SIrt R
A O IREE Ao Sfegr, afew, A, fem e
A AH-C6ETE RETTIZ | SRCTE IF TR RS T A
F40e A 9% |

Ans : A.
[E =y SAF ' A e 2
A. SbBY B. yab® C. Ssv8 D. Yoot
01 : PP CFURT TS SO oW B-
we AT SNSRI
47 ARG TS S |
499 eFT VB8 A | APIIE: TN SSICHNR |
|| [ 2=t wgam | “Trec without Roots’ (d»bQ) 1 |
AW E: T4 08 |
|| Ans : A.

Y = cermeita 33rge 1 ‘Brareht B et 754 Feas
A. FErsTEeE oo B. SR St (8%

@ AR e SaRer erm ofverd FRE
| B e@En AT Soad FATTH WAM AT TIewR
2O TG @3 ‘Fae) Bt I0TATe @loat STl
& | T Sy Fagee R TR e 1 I |
Ans : B. !

Y =8 Tewn Tmm Aedan waea w3 fe
FAMTS S ™ a7
A.oxfim  B.srfi

C.exffm D,y fim

T : o FEE SR o7 IRE TN [ee g @A
STLARY ©1R TS (FIIEET F FT TERE SA SF FTART |
o1 A1 Y80 A rma 3R I & |

Ans: D.

Read the following passage carefully and answer [0g. 21-25]

Until the discovery of the Indus Valley Civilization, the
development of literature and culture in India was always
credited to the Aryans. In 1920, archaeologists announced
the discovery of extensive urban ruins in the Indus Valley
which pre-dated the earliest archaeological sources. These
ancient dwellers in India were Dravidians, and in fact, their
culture had developed a highly sophisticated way of life.
Archaeological evidence also shows that the Indus Valley
culture moved from west to east, with sites towards Central
and Southem India flourishing after Harappa and
Mohenjodaro had declined. This civilization was thought to
have been confined to the valley of the river Indus; hence the
name given to it was Indus Valley Civilization. This
civilization was a highly developed urban one and two of its
towns, Mohenjodaro and Harappa, represent the high
watermark of the settlements. Subsequent archaeological |
excavations established that the contours of this civilization
were not restricted to the Indus Valley but spread to a wide
area in northwestern and western India. Thus this civilization
is now better known as the Harappan Civilization.
Mohenjodaro and Harappa are now in Pakistan and the
principal sites in India include Ropar in Punjab, Lothal in
Gujarat and Kalibangan in Rajasthan. What we know of this
ancient civilization is derived almost exclusively from
archaeological data since cvery attempt to decipher the script
used by these people has failed so far. Recent analyses of the
order of the signs on the inscriptions have led several
scholars to the view that the language is not of the Indo-
European family. If it is related to any modern language |
family, it appears to be Dravidian akin to Old Tamil.

Indus Valley Civilization is now being referred

to as Harappan Civilization because

A, traces of Indus Valley Civilization were found in
Harappa of Pakistan.

B. it covers extensive areas of northwestern India.

C. it moved from west to east,

D. it had spread wadely in northwestern and western
parts of India.

Tt Passage 9 @ Tmr 9 wrieery fAE
Northwestern @3t western parts 4 {gs TR OR,
Indus valley civilization ¢& Harappan civilization S8

ieRe a1 20 | -
Ans: D. |
According to the passage, which of the following

ancient cities is located in Pakistan now?
A. Kalibangan B. HarappaC. Lothal  D. Ropar

/M : Passage SFATR- Mohenjodaro and Harappa are

now in Pakistan. %4, T4t Harappa T |
Ans : B.




e [lemanien

R} The limited Kknowledge about Indus Valley Ot : look into- ©v® A, SEPTAA 74, A @ (to
Civilization has come from archacological data mvesngate Examine, Experiment, Inspect, Hunt)
because the script could not be . Ans:D

A.studied B.found C.decoded D. retrieved Which of the following word is incorrectly spelt?

it : Study - AL T4t | Find - 9t sttem | A. Privilege B. occurrance
Decode - ARG /AT s 399 | C. restaurant D. disaEpnintment
Retrieve - *FFa[ It | T : Occurrence T wrong. 46a correct spelling

Passage 9 T TAMR @ script () && ot decipher | | |z Occurrence (3ieab, 951, 961, 964) |
(FITEETe FRI) FACS AR IWE | IR, AT T@w 7w decode | Some Important correct spellings:

Ans : C. Occasion, Obscene, Omission, Overrun, Obedience,
What does the underlined word ‘Subsequent’ | | Neutral, Nuisance, Observance, Necessary etc.

mean in the passage? Ans : B.
A. earlier B. following C. preceding D. attracting What is the verb form of the word ‘clear’?
It : Subsequent - *=S, TEFEN (Following, next, A. clearify B, clarity C. clarify D. clarification
after, posterior, returning, Regressive, Laggard) it : Clear (Adjective) - =18, TR |
gans 2 B. _ Clarify (Verb) - et <1, frf w1
Aryans were, according to the passage, wrongly Clarity (Noun) - f¥el, =t |
credited Tﬂth . Clarification (Noun) - ¢*li¥ |
A. patronising literature and culture. Asii s O '
B. developing the caste system. DS e - . takes ]
C. devising excellent street layout. Jack: This student h:ls circled the mista e; :;ll
D. developing a sophisticated way of life. th'i text,hhlil; he Easn £ corvected them, 5o he |
ML : Passage R < #RA -Untill the discovery of th only. get ball mavks

Indus Valley civilization, the development of literature an James: He____ the instructions properly.

' i i B.needn’th d
culture in India was always credited to the Aryans, @ A. would rather not read ne ave rea

3l ot C. shouldn’thaveread  D. must not have read
T;ntuimg literature and culture S 201 =4 9t =13 | ey T o R S

The sun appears to be shining on your computer Sfos 2 | :E'ﬁ:;m 5T (C) -5 shouldn't 51 2
screen. You can avoid the reflection of the sun should = S T (C) 1

shines __ you close the curtains. Ans : Blank.
A.evenif B.incase C.provided D. unless ;vui]l?:lt is the PHSSin*E fﬂfﬂlhﬂf ‘ghﬂ}’ f;ﬂ going to
: : = N ild a new airport near the old one.”

W‘- Provided (that): 08 a1t Y/ 18 cO/af wed A. A new airport going to be built near the old one.
provided gth“t) A ‘ B. A new airport is being built near the old one. I
c@t: The flight will take off provided that the weather is good. C. A new airport will be built near the old one.
273 2ty that ©F R | D. A new airport is going to be built near the old one.
Ans : C.

¥t : Active voice 9 auxiliary + v + ing + to + v,
U+ auxiliary + v +ing +to+ be + vy T |
Active: They are going to build a new airport near the old one.

Sound : Cacophony::
A. Touch : Massage B. Smell : Stench

C. Sight : Panorama D. Speech : Oration Passive: A new airport is going to be built near the old one,
M0t : Sound (*1%): Cacophony (¢ *) Ans : D. |
. Smell (F7%): Stench (7%) He said to the interviewer, “Could you please |
<11 sound (*1%) G cacophony (331 *1%) T repeat the question?” Make it indirect.
W, A=A smell (F7%) & stench (T1R) AT | A. He requested the interviewer if he could please
Ans : B. repeat the question.
l The jury got to the crux of the issue. What does B. He requested the interviewer to please repeat the
the underlined word mean? question.
A. outline B. opposite C. He requested the interviewer to repeat the question.
| C. crucial point D. unhealthy D. He requested the interviewer if he repeats the question.
R« Crux-(&a 7, ) 99 meaning zeen - | | [310 : Direct speech orare Interrogative 2718 &% Direct
crucial point (e7g7d fEm) | (AqCF Indirect $919 3W- Imperative sentence @4 e @3 | |
Ans : C, FYM F40S 9 | Reported Speech aw S ask, order,
What does the idiomatic expression ‘to look into’ mean? request, advice, command, beg &[S I TS W |
A. to observe " B. to search QRY Interviewer & & 391 W 91 ( SR request II7© A |
C. to peep D. to investigato Ans : C.
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B The environmentalists warned consumers

purchasing genetically modified produce.
A, with B. against C. on D. of

[ : Wam-against - IS @ e €7 T (to
caution (someone) not to do something that is
dangerous or risky.)

Ans : B.

. This material is
sewing machine.

A. too delicate B. as delicately as

C. delicately enough D. such a delicate
01 : Rule : too + adjective + to + v; (base form)
@® fA@ipE- This material is too delicate to be

stitched together on a sewing machine.
Ans A.

1 1 wish my cousin wuu]d type his letters to me as
his handwriting is legible.

A. merely B. bitterly C. slightly D. barely
BT : His handwriting is barely legible.
Ans : D.
1 think there was a demonstration in front of the
university today, ?
A.don’t] B. was there
C. didn’t there D. wasn’t there

0T : Positive T CFE negative tag queqnufl hlES
negative I CFGEE positive tag question TS "-i'ﬂl
auxiliary RO was U314 tag 31 50 wasn’t 0 | @TGE
wasn’t there? T4 |
Ans : D. .
KBl Which of the following sentence is currect'?
A. Despite of having a headache, I enjoyed the movie.
B. Since the day was very hot, I didn’t go out.
C. She is richer than compared to ninety percent of
her neighbors.
D. You need not to pay for that call.
It : o7 (A) -5 Despite @3 R of A1+
g (C) -5 comparative sentence 4 Curnpared to.
TR AT 3 |
5o« (D) -5 need not to pay ! fa‘l't’l need not pay
GRIGERUOE _
= (B) sentence @« Strucmreﬁliﬂﬁ’f How l

tu be stitched together on a

| Ans : B. _ _
. The lawyer for the people whn in the fire at the
shopping center ___the judge for cumpensaﬁnm

A. were injured/is going to ask

B. is injured/has been asking

C. are injured/would ask

D. have been injured/have asked

Iﬂ;ﬂﬂ"ﬂﬂ : Verb wITs Fenifés zeum vtz faoiss are zoz | The
people who ¥¥¥- @7 *a auxiliary verb T were

A | WR the lawyer singular REAF 1S T | HOUT

were injured @3 fa@lw gap -9 is going to ask T |

Ans : A,

I

“ General Knowledge and Aptitude I

FIl Dhaka University authority corrected its historic
wrong of expelling Bangabandhu Sheikh
Mujibur Rahman in

A. 2010 B. 2015
C. 2018 D. 2020

o T191 RYRAIFTH (I 3 AR ISR 91 - 00 A |
o A ARG ST T - > TG M|
o AT BI (U IHT T TF- db8H  |
o GBI BB SYIF Sl Fiwies 0o IATFHT SAAEH
fewett- ey, W 6 WAER XFEA ACTE | .
mmww o @%afmﬁlmwmma

Ans A

’d Bangladesh s:gned its first Preferential Trade

Agreement (PTA) with___.
A. India B. China
C. Bhutan D. Russia

[t mﬁﬁﬁw—- 20

e Prudential Trade Agreement %i- ‘ﬂﬂﬁﬁfﬁﬁﬂﬁﬂi qifisy ]Eﬁﬂi |
-ﬂ&WﬁﬂPTAm-@mW|

o PTA &7 9071 - TBIA e Z0E CHAF |

o JETTTF Q5 T @ TPl o7a- T |
'-PTAaTwé’rm o1 B @ . D e
'Alls -

Matarhari coal-fired power plant is situated

in :

A. Maheshkhali B. Payra

C. Rampal D. Rabnabad
WL : ST oG O - I

mﬁrﬂﬁﬁﬁ%w&w ﬂ'fi'i‘ﬂ'lﬁ’(t‘a'l

* TSI SIS (v TFl- Wﬂ%@ﬁ%ﬁﬁﬁﬁﬁ%
o Ao e Besti 28RG- 2ff |
W{ﬁsﬁiﬂﬁwﬁ@m (G d300 CANSTD |

Wwwﬁmwml
Ans AT

Sustainable Develupment Goals (SDGs) are
Iintended to be achieved by

A. 2021 B. 2025
C. 2030 D. 2033
YT : &G forg wey-

¢ A& WY~ Sustainable Devel opment Goals.

o SIS ZE]- SREre wiwaifeos Sqm seare e |
* PSR 9 (TAM- Ro3u-30wo I |

» 9SS 97 Tl yaff |

Aflf@f&‘rc'ﬂ? 74 et e (Mi]lenmmn Development Goals)
s




I How many reserved seats are there for women
in the Parliament of Bangladesh?

A. 25 B. 50
C. 35 D. 45
T : PG g -

_-m&Wﬁﬁﬁtﬂtﬁ‘lﬁﬁWWH'ﬁﬁ@W ._-mﬁ;.
o IZEHAMA ARHFS AFTA GIAM- 30357 | bt
o TSI LA AL F=foe =m- ﬂuﬁtﬁ"ﬁb\uw'ﬁ‘lﬁl e
o SIS HITA *197] o wrfs m-i%maquw|

:2020-2021 (245)

.Weﬁwﬂﬂmm rﬁmu
Ans : -

In Liberation War, Sector 10 was comprised
uf |

A. Barisal and Patuakhali B. Kushtia and jessore
C. Tangaﬂ and Mymensmgh D. Naval areas

-53*91??1 F@ﬁl‘ﬂl -q:{gaﬁa :ﬂﬁ-nﬁl

® 3 TR (139- T | o b W8 (T32- Ffew |

o \© W2 (139- Tl | ® b 712 GTEA- ASHIA |

e 8 W (789- 10 ® Yo R G39- 7Ng GTI7iY |

o ¢ 7. (7189- JAINY | ® ) W2 (A39- BIFHIZA |
| ® v aR CTA9- ‘H“fq’l

m Where was the Jmnt Dcclaraﬂnn hetween the
- USA and Afghanistan for bringing peace to

Afghanistan signed?
A. Washington, USA B. Kabul, Afghanistan
C. Doha, Qatar D. Ankara, Turkey

TGt : W*ﬂﬁf%’ﬂﬂf@uwﬁﬁﬁw- . 4
o *1if%s elfiFua wet Row =R Y wrefe zmee - 3B
I -sam@wwwwmwaw
GEYWTTE YT - OIS AFI -
'iﬂ‘ﬂﬁﬁﬁ?’iﬁ‘ﬁ@ﬂmﬁﬁmﬁﬂ‘@ﬁmﬂtﬁ-
RO A | i gl ol
|| o 31 *i1f 5 =refae = - Wﬁ!ﬂﬂl e
.Wﬁrﬁamrswmwﬁﬁﬁﬂfﬁ SoR8 M| -
Ans : C.

m—The Universe has necessarily a beginning and
an end’ and ‘the Universe has boundary’
together imply-
A. The universe is infinite in space and time.
B. The universe is finite in space and time.
C. The universe is infinite in space but not in time.
D. The universe is finite in space but not in time.

Ans : B
In 2021,

awarded to _.
A. Benjamin List and David MacMillan

B. Benjamin MacMillan and David List
C. Syukuro Manabe and David MacMillan

D. Klaus Hasselmann and Syukuro Manabe

Nobel Prize in chemistry has been

TIYL : 03 T (A THT T -

o *RA- wmw% @)
© 3PI- TR S a'rce‘rlif a’ct‘ﬂ (TSR 3 CF, T
sifedr

%ﬁmﬁm' W PITET |

© 1Zre)- i G, FHL | '

o *fRTS- Wwﬁwﬁ Wﬁﬂrﬁmﬂ% it
SRR et mﬁuﬁ @ ﬁt@m WWH A
Gﬁﬁ#w e R | -

o NFETS - qﬁr@a (TSI ﬁm‘é LI ANIF GARANH
(R @7 IEA, Pt e s eiEr SRS wrms
9 ﬁﬂﬁ@ﬂﬁﬂﬁﬂmﬁrﬁﬁﬁﬂ tﬂi‘ﬁf%?f@ﬂ |
‘Ans :'A."- -

0 TUCN ‘Staindi for

A. International Union for Conservation of Nature.
B. International Union of Contested Naturalism.
C. International Understanding for Conserving Nature.

D. International Understanding of Conservation of

Nature.
I - ﬁﬂﬁm Abbreviation-
e [UCN- International Union for Conservation of Nature.
e ICTR- International Criminal Tribunal for Rwanda.
e IDA- International Develupment Association. .
» IGAD- Inter Govérmmental Authority on Develﬂpmmt
e [ITA- International Institute of Trupmal Agncullure
Ans: A, gl
Small amount of iodine is necessary in our diet
to .
A. Prevent pellagra
B. Compensate for underactive thyroid gland
C. Stimulate clotting of blood
D. Stimulate pituitary gland
I e ROy
¢ QUZTACTEA ‘ﬂfﬁi"[ﬂ‘i F0I- CAICH | ey
o TIITHR ¥ CSF TS AT - W |
o JufHE T AR - QF | -
o 3¢ “iifera/ et <ifa Wee- wanfem )
® SRS T @ TR Tl Rl & SR~ ST |
Ans B. ;
Study of life in outer space is known as
A. endbiology B. exobiology
C. enterbiology D. neobiology
TIT = T QIRCTA VYA 0 - TR | |
o GIIRITAIART o= Y - SRR |
. AR I T - TR Beotf, Rade, 3007 «=e. | |
RIeTR Sf@e [ |
Ans : B.

|
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. Light Year is related to

A. energy B. speed
C. distance D. intensity

It : e e eyt Ry ou-

e Light year w¥- wireiaad |

® WTHAIFIHI T 0 - w(tmﬁvfﬁmﬂwwjl
® ) WTFRAY AYH- ».8v Hiff fRFraifieE |

® ) WITARAE - IGAR IZE (wue.¢Mm) 2 T
It TS01 [ SfSary A |

® FCHAIFIED GTF AG(G0- (EoetqRe dIS |

Ans : C.

‘Bl The General Assembly of the UN meets_

The first ever Bangladeshi archer to qualify for
the Olympicsis ___
A. Rumana Shahnaz B. Ruman Shana
C. Rumman Shahnewaz D. Ruma Shahnaz

[ =rat mwwmﬁﬁﬁw-
e - bGH b, Tl |

o 5 - IR G HEA

o TITI- SiFwIE! |

IWW@EWW Qﬂbbml

S

o FEA L2 Qe e OG- Wﬁll ' :

Ans B. :
| Which of the following is nnt an mRNA vaccine

for COVID-19?

A. Pfizer-BioNTech B. Sinovac

C. Moderna D. Walvax
COVID-19 Vaccine Type A
Pfizer/BioNtech mRNA i
Moderna mRNA Al
Oxford/AstraZeneca | Vector
Sputnik V Vector
Johnson & Johnson | Vector
Sinopharm Inactivated
Coronavac/Sinovac | Inactivated
Covishield Vector
Covaxin Inactivated
Novavax Subunit

Ans : B.

B3 For Purifying drinking water, alum is used_____
A. to coagulate mud particles B. to kill bacteria

C. to remove salts D, to remove gases
01 = SFgY (g oW~
o W ¢ AR - *Biftra e, oo o,
Sip 1T SEATS ST |
o ST (WATS- AW HHoP |
o S%- TN 4199 |
o TG M ~RTNw, SEG GifFe, dewRw; S,
GHOIRA TR ([ TTGH REE %S |
o *IFmITE ~fafefS fRwe- S e FR |
Ans : A.

2020-2021 (246)

Bl A person has certain number of cows "1 A verson has certain number of cows and birds.
They have 172 eyes and 344 legs. How many

cows and birds does he have?
A. 0 birds and 86 cows  B. 86 birds and 0 cows

C. 43 birds and 43 cows D. 10 birds and 76 cows

T - A S SR 1R 716 7 (b R &7 B #fl @ 5% (O |
G, buf 1w 393 oY @3 w8 sl o |

wu o sasf @Y ¥ A At

goft o1 qae 8efd owa a3 (514 ¥R :auo |

yoft oY e quft siwra 5430 o1 ¥R 590 =il |

A,
regularly.
A. once a month B. after every threc months
C. twice a year D. once a year
1 : TSR e AREw T a7 g7 4 g Oe-
o SIRERTTA YA #ARFE (T - UNGA!GA
@mﬁaw A4 i1l - oo |
o T vlﬁm AT BoifFe Qe - 7w AU |

Ans:

Ans:D. -
- Whmh ome is nut an ‘input’ device of a computer

system?
A. Liquid crystal display system
B. Mouse
C. Joystick
D. Tnuch sensitive pad
-’5?\‘:1?- Wﬂmﬂlﬂw?ﬁﬁﬂ@ﬁﬁ@ﬁﬁ'ﬁl e T
GOz ZAL (%18, G, 5614, FRBLA, EH0T) |
6 SO - (¥ T JET AR FACOH AP IR
,—mmqm wﬁwr‘@f:q%(wrﬁﬁa &ﬁ;ﬁ o, e,
ferfatam, 21313) Poes Py S8
ARgAL T -
m Which nf the fullnwmg is not correct about

digital camera?
A. It can work like a sensor.
B. The lower the number of dots, the crispen thf: image.

C. Both ‘A’ and ‘B’ are right.
D-Both ‘A’ and ‘B’ are wrong.

1T - TefRs mitrars S tafe)- -

(i) - fEEoF WtEE ™ TR ATTRRNS G, S g0
*t¢ CCD (Charge Coupled Device) GTtaa Bo{ |
G B S 8 o Yafere wEtve T wase fIfeq
ERGAE AT Mgw i fefEeE wfq, SR
T ST &5+ | _

(1) CCD/CMOS -7 9% fefeom ey (gR) <86,
TR O TR @ RfeoE fokm a[/gm o9

789 | fefenm et st fefenm e 91 IFAEiE
@& 3t T |

Ans: C.

[ITe (<hrli<l
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1 e

rE——

ﬁmaﬁ R030-%3 [Set F]

01, T-IWAN (A B I35 SiE IR, o S (FAD?

Tt ¢ FT] 7R YRR WA N iy W |
Wmﬂﬁﬁmmmammm SACE TRl |

Ans : C.

m ‘Break hutterﬂy on the wheel’ ' emtd w9

T - Wfﬁﬁﬁiﬂ'@ wmﬁmwm ‘EI"E‘(‘T' | a8 Ry

o1 (U ST < S B T Y | P c

R G0 31 | 93 cﬂwwﬁﬁq—mz—ﬁ@—ﬁw

T, R IR SR, T St Sfuie i F i |

Ans : A,

SR TR I, A SR SR ST, 5 T A

T waw::-wﬁh-mw;m;m, Jkde

| TPRP 8’ TRER TP

A. MoR T B, wige C. g D c,ﬂﬁl?ﬁ |
IR : "' AREAR PO CamB-
-aﬁaﬁﬁﬁﬁ‘ﬁtﬁﬁl -W%ﬁ‘ﬂﬂmwﬁﬁl 2
Ans St
E‘q&ﬁlﬂmw?

A. T FUYET B. ST FyRm

C. oe%Fq D. faa |

Tt : w*lﬁﬁmcﬁmmanfwmﬂhm s

TGN SAYT AT @ i e

wﬂ%wmcﬁm *gﬁacﬁltﬂ :
ﬁ"iﬁﬁww ﬁr"?ﬁ?rl

Ans B. &

T et

A. S, gl B. ©i%d, ferg
C. AmrS, A7 Dﬁ"lﬁ‘ﬂmﬁ‘ﬁ‘@

JNGT : AW T IS TS e

Wmﬁmﬂwﬁm@mﬁﬂwl
Ans: C. |

mwmmr{ﬁﬁﬂmwmﬁw'

. ¢ zm Refeide -
A. 3¢ B. g+ C. *=md D. T4

TR : L G0 [{OIT o | 97 [RE @ - T+ &
99 - ﬁﬁwwﬁﬁtﬂﬁwﬁ o |

Y *wa ReAre1ds * =g |
Ans: C,
T iz TR’ a1 e T -
a A, Taip) B. Taam C. Tadl D. 9753
T : IO IF T AP
o Tuq W s - BfeT | o Tuq s - TR0l |
o 77| fos1 <2t TR 1 - oy, Sibea |
o et BT - e | o 5 T M - WO |
Ans: A
WWW'Wwﬁ-
A. 313 1A TI9E B. 72131 TR 4 W
C. 4@t =12 wiey Wiy D. 4o 8 fq@ wgE

A. 9T NG (20 WEEw B, iR ¥
C. ™ 0SS w1l D. geieifs s
TN : IO Qe eioas i wd-
AT S et o
Break butterfly on the wheel. T TS IR A
A full purse never lacks SIS FLITA I WOl
friends. eIl
A good beginning is half the | @9 OF ST A
battle. w4 faem |
| Mlsfummvanever comes alme 3ol TN G HEA A |
Ans @ :
09 wmmﬁ:mwrw'm = l
A. iz B. 74 c feare D o
DL : IO SI- IS 1%
A, oRate, o, TN, GRS, SR, Romefs,
SUIE WTFN amn mﬁﬁa‘i—lﬁu
Ans:C.
M Rewr T T A
A. REmFs B. wieasd
C. T 8 IYT D. IS

ﬂﬁ?ﬁﬂmmﬁﬁwaﬁa STHATIE S |
Ans C 43780
1 5IR TF <40 G et 2

A. FreE g9 B. _ﬁﬂfﬂ.‘m

C. g 929 D. ﬁﬁiﬁtﬁaﬁwﬁm
I : ‘R TF ACH IR ST - TP e, 1o
mqﬁﬁmﬁﬂﬂﬂﬁgﬁmvﬁm|
Ans:A&D, |
B S ) eRwhre SR SGReTor 9 991 KR
A. “Iffre @ 787 AR T
B. SFIeWMIESE IHREE T

C. IS o713 S sas! S
D. ${RAGR MYy

W:wﬁaﬁq'mm_
"SI BRSS! i | R Sraftére! cfi e ez | |

SYRITT ST, R TR Sttt V13 23, O et Regre = 1~
Ans C.

)] TR O Yo TR G RV P R ST S
A. W3 B. s C.3fezm D.wfa

It : T TR S o :

o THIF 199 AP I - 358 9 TN, (] A T (A |

o fof% vt faRmyteices wia foeem - s e

o b1 Rt i foff afige 2w - 3s8% e, 84 g

Wﬁtﬁawmﬁmmfwmmm

WWWWH mamnﬁ.(wﬁﬁﬁw

Ans : A,
i 14

1 ;R mmwmﬁw@uw|‘




e ——— e LA

e e e | IOy

14, ‘@z FRSW T oo FAD AR
A. 84t AR ¢+ B. b4+b @32 b+50
C. br+¢ 93z b+b D. 45 qP v+ Read the following passage carefully and answer [Qg,
JIYT : TSR ATaTS = | 21-25]
Ans : B. The coconut is an unusual food for many Jneasnns. Ictl i8
[15. SRy sRom SRiRe R Tem technically a seed, produced by the coconut palm tree, and as
A. 3o B. o .,T;T C. ‘ﬁlﬁq%‘;ﬂ %W such 1s one of the largest edible' seeqls prc_yduced by any plant.
| [ 10T : TEAR TGS W | ; Its unusual contents also make it unique in the seed word-the
Ans: D interior consists of both “meat” and ‘Watti:.'.‘ ". The meat is the
— white pith with which we are all familiar, as it is used
OIRIER Ty WA IREITT G e F extensively for cooking and flavourings; the coconut water is
A. v B. e C.@n D. /@ a white liquid that is very sweet and thirst- quenching.
TR : SIRIER NG T I TR TS OU: Portuguese explorers gave the nut its name in the 15"
3] HRE =9 ) century, referring to it as coco, meaning “ghost” in their
Ll YT | language. The three dimples and the hairy texture
e BT AR e | reminded them of a ghost’s face, and the tree has
— oo | | retained that name ever since. _
—— T The coconut has lrlnany varied uses.k]g is 1}1sed tg Eake
' - : margarine, as well as various cooking oils, and thesc
A ot | M R A, Svee A | cooking oils are used by fast-food restaurants around the
Ans:A. world to make such diet staples as French fries. The coconut
“4 e 3 R e o A A - | fluid is a favarite drink in hot climates, providing 2 cool and
1 WA B AT T I refreshing beverage right off the tree. This water is also used
A. IEEL B. wifzwt C. afz D. y&t fimt by manufacturers of various sports drinks because of its
| | ot - e mm_ 7] | isotonic electrolyte properties. Even the shell itself has many

“zoTe, AZA N ISl o G @ TCT | SRER T o | | uses, including cattle food and fertilizer.
ST ARSI T 90, -4 A 9 %39 WA wE A | | Yot the coconut is also useful in many ways that have

M2 S o ot S o ] nothing to do with food. Coconut oil is used for cosmetics,
AEo 6 | | 2 L ek medicines, and can even be used in place of diesel fuel.
_ ol : i.'] | Dried coconut shells are used in many countries as a tool,

m BT 9T [T TG0 &t T T I ‘| such as a buffer for shining wood floors. The shells are also

A. wl=pa B aeRarsa C. 1ifeeims D, smqefess | used for shirt buttons, and are commonly found on Hawaiian

T : PRSI T2 Syre- clothing. They are even used for musical instruments and
S ;13 S S 9 | __ bird houses! And all these are only some of the uses found
RRPTAT: T €9 TS T HTeNG | . ; ftEr thet!cnlc;nnutulfj-mL The cnti:nnutpehn tree, which produces

e, TS | € nuy, also produces countless useful items. It’s no wonder
mmiﬁﬁ S ?'ﬁne RIS BT T | that the coconut palm has been called “the tree of life”.
I TETA &1l T | :
_ | The coconut earned the nick name “ghost”
I:n%q {3.4[“t — - ' because_ .
_ LLCh AT SAR I &7 A. of its pale color B. it resembles a face
A. arag fim B. If%w5H 8y C. it is round D. of its smell
C. MEEF 1FFH 7o D. “fjidivla - U101 : Passage 99 2nd part @ coconut 9 SRER E
TR : T WAt AT TR oo wu: T JOMR | LM @F AW R ‘coco 1. TR W “ghost” |
I @A AT Passage S coconut « nick name ‘ghost’ 2emH
GG W1 BICeR w=y e I ToF AFTE IR — it resemnbilcs a face.
T WA WSEH 8 [AE | Ans: B.' Ly |
ST ST Sbrbo A | Which of the following is not
Mot for th
BATETS WM I | MR TP wE | coconut palm? : non & use for AP
| ST (ST FG | A. margarine B. buttons
Ans: C. : C. helium balloons D, diesel fuel
20. @F 2ED TR IR T T @ e gre | | 90! ¢ 2nd part 8 3rd part @ coconut- wa GITE TR
Rz TG P4 A | G I T@Te Margarine (F
A. TrEgTA B. tirga e s TE), buttons (@), diesel Fuel (fetem e orgfe
C. ¢ii- B D. Ui Sier @ (N o1 I coconut WIS T |
JGT : AR RRE RIEF R SPIRRT TEees | o onm Ans: C.
RGP (T (oM e PR < et raer 2 s = |

IAns:B.
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._._-—-—-"'"--__— e ————————— e et
| The undarlmﬂﬂ words Sta les, as used in the ROt : Parallel Structure W@t and a7 0 8 T lﬂ'ﬂ‘?t
passage, most nearly means

— Structure €3 Sentence | and 93 9@ present tense
A. fasteners B.plans  C. paperwork D. foods ™« & pr

QY @3 =rde present tense TA |
O3 TRIIRTS TER- :
‘W 4 2d;pat ol ihiess socking — Present tense + and + present tense.
oils are used by fast food restaurants around the world At B
to make such diet staples as French fries. 3 - : . :
SHTSR AN, FT511 Bl M andmother has been infected twice with
Staples @ W E ; | %8 Passage EWI]%-E; virus February, 2020.
@ foods () FROTR T3g® @RI - A.after  B.since  C. from D. before
Ans : D. i : e W (AT wRQ S\ e TR A T T

- The coconut palm is sometimes called “the tree
of life” because

A. the Portuguese thought it cured disease.

Present perfect/Present perfect continuous tense -9
since/ for =@ 341 70 | FAWE FNGER CF since T | Wfe

B. nearly cvery part of the tree is useful to mankind. avJTI:F{.Smce Febmary, 20207
C. it grows near the Equator. Aps : B. : , .
D. of its green color. “The show pleased us” What will be the passive
Tt : Passage «@ @37 (1§ T Wiz- The coconut f“r{;'r of the Stl“tﬂ"?f"t.'ih the show
palm tree, which produces the nut, also produces ‘g‘ W: :;r;ﬁaifdem}?h the show. '
countless useful items. It’s no wonder that the C. We are pleased by the show.
coconut palm has been called “the tree of life”. D. We were pleased by the show.
ﬂﬁ?ﬁrﬁMmﬁﬂdﬁ“ﬂW'mﬁmw 2t : Pleased @7 S with 907 |
Z4- “the tree ufhf'e | Structure . Ubject «@ Subjective form @ Subject +
Ans : B. - i - - auxiliary verb+ vy + by/with/in + subject (¥ object 08 2 |

| What is the main focus of this passage‘?
A. the history of coconuts

B. coconut trees have many uses

weffe- “We were pleased with the show”. Active @ past
RETY 'we F auxtllary@ﬁﬁ were TR |

= LRy Ans.sAlc

C. how cooking _ml 1S n:_lade: i Despite Kﬂﬂwlﬁdgenmu , he remained

D. Portuguese discoveries all through.
It : Passage T = = mﬂﬂ qE- Q9T Cucunut HE A of/doubtful B. owing/through I
TieE WE %% I@ W@ ‘Hﬁ-’éﬁ! TS "@ﬁ’iﬁ m C. having/ enriched D. being/poor
wmmmlmCWmutmiﬁﬁmMM|m

] : Knnwledgeab]e (Adj) - S | Despite - 349 | -
Y gap @ being T3 TR "hnw]edgeab]e" adjective

Ans: A. - - ||| 93 feSm gap @.remained @ 1 poor T | Despite 4
- Your hair needs before you go back tn schuul -qm nfwwm fﬁ Iﬂ gplte nfw LTl
A.tocut B.beingcut C.cutting D.tobe cutting | Ans:D.  * , ~

<1 91, Passage 53 Main focus- “the hlstury nf cncunuts”

Il : Needs @9 #t3 verb @3 ¥t @ noun ffEC’lEﬂ *ﬂ"ﬁﬁ* - “When the pnl:ce came, the tlueves tuuk to their
form Zr® it | . : heels”. What does the underlined idiomatic
 Needs + v + ing (Needs cutting) I g expression mean?
e Needs + to be + v (Needs to be cut) _ g :Wllrceftlglg(ﬁ? by surprise
. - h : : . too 1
; f:?dé + article + noun (Needs a haircut) - C. took shelter in a tall building
1' \’;'hi;:h of the followi ds is correctly spelt? D. mmcqnditionaty surrencered
7. e following words is . , =
A. Intelligance B. Perseverence Urt : ‘Take to one s_heels RIOTT AT A OBt TR
C. Vaccum - D. Tyranny (take: ﬂ1ght)
Sume 1mpurtant Correct Spﬂlhngs. A‘“ B :
Tariff, Tannery, Technique, Terracotta, Theatre, EKl The works of Shalul:;peare into every major
Tobacco, T language in the wor
oy < ruly, Trolley, Tournament, Triumph etc. A. are going to translate  B. have been translated
C. had translated D. had been translated

M'_The perfume like cheap soap and definitely | |3yt - @Feg WG Mawe 9 39 vama aImt ﬁm,
1sn’t worth this price.

_ ciewta Present perfect tense %W | "creimms Fterer’
| g_ is smelling B. smells faoym SfyF] SETS Sgam 41 0L |
- Was smelling D. smelt The works of Shakespeare have been translated into

every major language in the world.
| Ans : B.




EFl Choose the appropriate synonym of the word

‘incorporate’.
A. distribute B. ameliorate C. accelerate D. include

M1 : Incorporate - RS, RIS, (TRR, oG 41, &% 1 |
Incorporate <3 g wg7{ € Synonym & Antonym:
Synonyms: League, Organize, Club, Discrete,
Formless, Include, Unbodied, Bodiless.
Antonyms: Disintegrate, Break, Crush, Stave,
Kibble, Comminute, Fine, Refine.

| Ans : D.
l This illness, to be caused by a virus, cannot
be treated with antibiotics.
A. believing B. having believed

C. to have believed D. believed
It : @8 Sentence U simple sentence 1 Sentence @
finite verb (7ew SR | ©I2 gap @ Y31 non-finite verh
@3 past participle "believed" Wml R it

I Ans D. R A AL
Island : Ocean::
| A Hill: Stream B. Forest : Valley

C. Tree : Field D. Qasis : Desert

Tt : Island (R) : Ocean (FxFR) 1 Sl
Ocean (T2F19)- @ T @ (Island) A, cswf Desert
| (FFEe) ~q Oasis (W)QHWI ' -

Ans D.

I Columbus did not dlscuver the Indles, but he

______turn this apparent failure into a success.
A. mig ight have B. was able to
C. could _D. must have

| | TGt : Was able to - W‘i[mﬁ_ﬂlﬂ‘ﬂiﬂ{mwcﬁahle
to 919%° W |

mﬁfwquﬁ%wwmr

Ans * B. 3 . . I e P
IEE! He said to me, “Do you know his name?”

A. He asked me if I knew his name.
B. He asked me if I know him name.
C. He asked me if I did know his name.

D. He asked me if he knew my name.
N ¢ Direct speech @ I auxiliary verb M question
¥ TN O inverted comma W @ iffwhether 23|
Reported Speech @ Present Indefinite 9/t Indlrect
Fa% 794 Past Indefinite F909 77 |
Ans: A,
What is the verb of the word ‘slavye’?

A, slavery B. slavish C. enslave D. slaven
[ : Slave (N.) - I1, FreweT |

Slave @3 verb form Tt enslave (m?rw ) |
| Ans : C. .
- Travelling by train is not it used to be.
A. as cheap as B. as cheaper as
C. as much cheap D. as cheap than
UMt : Positive dcgreeﬁsn+adj+as‘ﬂw:as+adj+aﬁﬂ |

L‘Gﬁfﬁr Travelling by train is not as cheap as it used to be.
Ans : A, _

muﬁ-wﬁawﬁmwﬁﬁwﬁﬁmml

Choose the appropriate indirect form of the statement. |

| Geueral ]{nowledge and Aptltude n

I8 In which session of the UN General Assembly
did Bangabandhu Sheikh Mujibur Rahman

deliver the ﬁrst-ever Bangla speech ? .
A, 29" B. 33" C. 44 D. 45

1| ¥ : 2020-2021 (250,

mﬁﬁﬁwmﬁaﬁwwqm q&&rzﬁa:

o TfSHECY A ©IF< 7 - 3598 A | -

‘o A LT T S St (7 - th‘ﬂi?ﬁ'rﬁl

o FO%IE CB5 TR AT (6" AT IR - ¢ T |
ﬁﬁ‘#cﬁﬁ%ﬁﬁ?ﬁﬁﬁm ﬁﬁam iﬂbhﬁ!ﬁl |

._Ans A.

national anthem of Bangladesh?

| How many hnes uf ‘Amar Sunur Bungla is the

A. The first 4 lines B. The first 12 lines
C. The first 10 lines D. The first 16 lines
JNT - W{W— o

-mwmr-mm@wa%aﬁwu mmﬂml
_--m*ﬁnﬁmw@aﬂa%ﬁ@@ 3593 A 0o T |

{ ﬁﬂﬁmmmm AR TN - I GTFS |
-wmm@wﬁﬁw SR TR R SIS SR Yo AR |
,-wmmmmmvrmq?rw 91 ZF4l |

education?

A. Bangladesh Agricultural Research Council
B. Professor Dr Md Obaidul Kabir Chowdhury
C. Bharateswari Homes

D. Dr Mrinmoy Guha Neogi

lé. Whn recewed the Independem:e Award 2020 for

TGt : TS RS- 032 97 SR
: G TRl
. | X Srem o | ToTT
| TR A o gl oy
R S | T
AT Sl SRem s
[RE GRS PiEzivy
e s SR Tofe Tamm
[ o o e T T
* | 3o o R I 7o)
1 mﬁmmﬁ@rwﬁw NEEA @ SPrme]

atrocities against the Rohingya?

A. India B. Argentina
C. The Gambia _ D. Bangladesh

Eﬂ Which state filed a case before the International
Court of Justice (ICJ) alleging Myanmar’s

NG : "t I el g v

e GIFEHA! sty Tl Fe7 - stifvn |
-ﬁrﬁmICJ-ﬁwmwm-abmqﬂmml
-mﬁmiﬂﬁﬁm-wﬁqmml

© T - TN ° T AN - P |

® TR N - TEART (A | @ T So,urd 3 A, |
® Th! - SETIfA |
Ans :C,

* SR SfF! - Bafey | o TGS TS - b3 EFaifd out |
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- The first general election in the independent

Bangladesh was held on

A. 2 March, 1973 B. 4 Mﬂrch, 1973
C. 6 March, 1973 D. 7 March, 1973

JT : AT WS Hew FRfoTm wif-

o T TrOW N A - Q W6, dvae

|| o 3 =1t wom =fER - sb ol svas o/
o 0T TTOIA AL A6 - q €T, Yvbb i |

o 8¢ TEOM oM Faf5H - © 6, Svvb 79 |

o @Y TSI HPM (1AM - Xq CRFTI, Svdd 74 |
o UB Troi Hem ffod - decaFmfa, svvu WE |
® 9 WISIH A% fafoe - 3% G, Sodb A |

® b¥ TSI 7w fAafoe - S WIPIRT, Yoo 7 |
o »T O JW 25 - 3 e, 200y 7E |
® Y0¥ TS HeAW 6 - ¢ igwifE, 2038 3@ |

* 57 WY AL™ AR5 - wo BTN, 205 Hiw |
l Ans : D.

[ld When was the Great Magna Carta adnpted"’
A. 1212 B. 1215

C. 1217 D. 1219

| | Tt : ‘it IHT T et g ow-

|| ® ST 0T =TT G wferr M - A el I |
o TSI FI01 APFE° TW - 3¢ T, dD¢ AN |

o I FOT AFES I - IENST A TF |

|| o Srerdta efuica fofs - wptsren ot wier | |
o ST & WIS Tl a1 24 - TJ9fa1 ofa 770t |

Ans : B.
I What does Mens rea mean?
A. Guilty mind B. Innocent mind
C. Illegal mind D. None of these
IOt : Mens Rea T 496 qAfed SRy I IRMA-
TAGE BAM | |
e Mens Rea & 947t 8- Guilty mind.
Ans: A.

Who is the poorest?
Shirley is poorer than Tony.
Shirley is richer than Mark.
Tony is poorer than Henry.
Henry is richer than Mark.

A. Shirley B. Tony C. Mark D. Henry

[T : o 4f, WAl oA AR = do UFF |
o [ (AT Ofefd 37 @ = ) G |

o *[[AETH (ATF LA T T4 = b AFF |

» B (T (T TR TP = 3 UIF |
&A1, FATGEA Sifeq T - W |

Ans: C.

TY! : Tt At T warge)e| g wuy- |
o f&B1 TR Beaf - Wﬁmﬁﬁfrsulhaanake)m!
o (7 - wde .M, |

e 2IfES WY - SEATST B, AfeTaw g2 AET |
o iy © Taa v gAYt - fowt Tt

o o T4 fifere zog - e =nd |
Ans: B

The clear sky looks blue for the___.
A. reflection of light B. refraction of light
C. diffraction of light D. dispersion of light

TN : eyt g -

o TS G328 TG 72 G-704 TREH AR - ST |

o wieT fRTweiteta (Dispersion) &7 SFMHE I - [ |
o FTSA (&1 WPPF CTH - PICTI AR A0S | |
o (U, TRYT, SR 91 (oS, grire wAReire T - SR |

o SRR G WP IS [T - qgeE Fova e
4 G WIS |
Ans:D.

Who was the first female presidential candidate
of the USA?
A. Kamala Harris B. Hillary Clinton
C. Victoria Woodhull D. Shirley Chisholm

'ﬂINiIT : “Victoria Woodhull’ ﬂ“ﬂ#m’jﬁfﬁiw
o SFPTFI-TEPT = Sr0b-3pRA |~
o 5WIf4% - Newhaven, East Sussex, England
o (o1l - FEFIEED, AR, TR @R ETHF 1
o SR IR - TS, TR AP, TR SRR, TR,
iR S, arrg REfe, MRS TR TE SR |
ﬁ?ﬁ?ﬂf mﬁwmmﬁrwﬁﬂ%aﬁh i
Ans:C. - -

World Heritage sites are listed by
A. UN World Heritage Committee
B. UNESCO World Heritage Committee
C. UNDP Heritage Committee
D. UNFPA World Heritage Committee

ROt : FOACH TS Gyl g ou-

o 2TCH! R - T P, et o il fRgre war 1

o TBLCH fSUS TW - 358¢ FETH TSR TS HCHICT T |
o ZOCER e WA - FICTH NI | |

o firs1, A&, Frﬂfl%aﬂﬂﬂm%ﬁmUNESCOWﬁmﬁ
PA - W YA |

e World Heritage sitc 93 7% 32 - UNESCO World
Heritage Committee. .

Ans : B.

The Tista river has originated from .
A. Memencho lake B. Tso Lhamo lake
C. Kathok lake D. Tsomgo lake
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Hybrldlzatmn is a process of

A. downward movement of water through soil
B. tilling the land

C. decayed vegetable matter revitalization

D. cross-fertilization between two varieties

NI : Hybridization is a process of cross-fertilization

between two varieties - TSRS M o WS T4
T TRGARECR (oRREe) gt e |
Ans: D

In 1943, Franklin D. Roosevelt, Winston Churchill
and Joseph Stalin met at Teheran primarily
A. to discuss the strategy to be adopted by the
Allies to invade Germany.
B. to consider a common plan of action by the
Allied forces against the axis powers.
C. to create an effective instrument for maintaining
international peace.

D. to work out a common line of action against Japan.
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Ans: A.

=} Modern football is said to have evolved from___
A. England B. India

C. France D. Spain
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Ans: A,

The credit of developing the polio vaccine poesto
A. Jones Salk B. Alb E. Sabin
C. J.L. Baird D. J. Perkins
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Ans: A,

o« 36 form T Wi cifae ©iZam werld - g

B8 The UN Charter was finalized at __ an

became effective on
A. San Francisco / 24th Octnber 1945
B. Dumbarton Oaks / 5th March, 1944
C. Yalta / 2nd February, 1945
D. Teheran / 24th October, 1943
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Ans : A.
What function does Musical Instrument Digital
Interface (MIDI) perform?
A. Music listening device
B. Video display device
C. Allows communication between a musical
instrument and a computer
D. All above are correct

It : Musical Instrument Digital Interface Ztsit MIDI
q3 Wewd FH) Ot QU g TOREH, T 9T

W@mﬁwﬁ%wm T cedl W3t fAaEd TR

AR | (A AT, S, fFrrgaizeE | @3t MIDI 39

FIEE I GTT T T AT F90S A |

Ans 4 ' l

| What is World Wide Web (WWW)?

A. It is internet.

B. Multimedia branch of internet.

C. An online system. \

D. All are correct.
T : e g ©e- _
e WWW - World Wide Web
e WWW - 8301 =11
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e T 7 WOR J%ER - Google Chrome/Moxzilla Firefox/
Opera/Intemet  Explorer/Safari/Uc  Browser/Netscape

Navigator/ Microsoft Edge/Tor Browser.
C.

m—s’l‘wu people were walking in opposite dlrectmns
Both of them walked 6 miles forward then
turned right and walked 8 miles. What s the
distance between them now?

A. 14 miles B. 18 miles C.20miles D. 25 miles
R0 -

. Distance between them now is 20 miles.
Ans: C.
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